
   

INSTALLATION  INSTRUCTION RS82137 

— RS62137 

Rear Shock Glide Plates 

Fits 2020 Jeep Gladiator JT 

READ ALL INSTRUCTIONS THOROUGHLY FROM START TO FINISH BEFORE BEGINNING INSTALLATION 

 

P/N DESCRIPTION QTY. 

RS176957 JT Rear Shock Glider 2 

RS176958 Nut Clip, M10-1.25 2 

RS860879 Sub Assy, Hardware 1 

  RS770250   HHCS, M14-1.50 x 80MM 2 

  RS770251   Nut, M14-1.50 Nylock 2 

  RS770109   Washer M14 4 

  RS770142   HHCS M10-1.25 x 30MM 2 

  RS770064   Washer M10  2 

  RS42702   Thread Lok - Red 1 

RS82137 Instruction, RS62137 1 

 

1)  � Park vehicle on a level surface. Set the parking brake 

and chock wheels. 

2)  � Remove rear shock lower mounting bolt. 

3)  � Place shock glider RS176957 over lower shock mount. 

4)  � Loosely attach glider to shock mount with supplied 

M10 hardware and nut clip. 

5)  � Attach glider and shock to shock mount with supplied 

M14 hardware. 

6)  � Torque M10 hardware to 45 lb-ft, and shock hardware 

to 100 lb-ft. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

www.gorancho.com 

Rancho Technical Department  1-800-325-8886. 

Rev A

Shock Mount 

M10 Hardware 
M14 Shock Lower Mounting Hardware 

Shock Mount 

Nut Clip 

Nut Clip 

(In Shock Mount) 


